CNV_M1_HG19 7 4293556 4297215 CHS

Y ==

11600590 HGUDSJS

e TR L

HGO065]  m— He00443

e i
e

HERRS ey e
U T | T

- Hsssssa
HER0EY e ——————
s ———— -
fhnes

s

G000 e

R
o il 6551000443 St .
Hegeses e RIS IOV g 00O -a .

T —
nesssas =

St ————

T
ctt e ———
e, F!_-
=
Helest
22882?8 S R g 3 R
s SSSTmm—
o

HG00629

eoo00z

ega
1
e ?ﬁig %. I
s ,——— —

HGGGESA

s ,——— ‘

HES&“E ° =

gl
i ——]
=—

'G00701

i

HG00653 e

(600655
e — T
et ——
. i =
el H%%M=9'_-
ey
HGO00651 500
e —— W TR []]
HER05EE
HESRATE —
N -- ? =
i :—
1
———
5 —
Egg gHGOOSSZ — —
0

HEB03:8 =H mg
i =

HGO0625

Hggsg% HGO0705  e—
e ——

S —
et |

00517 mmm—

H
HG00463 1

1@%
—
e

mm— {1
= ”§§§égsmm
= E‘é%%%’s’%sm
gﬁg%sa%%
= |
== & Hesness

=

HGOO671

H CNO m CN1

HEgasas

—— i

1838z

100651,
——— 1155553
Hegaeae
—— i
HGOCSE

100500

——— i

G063
I
L —

1598642

T ————cid

HG00635 e o0sce s
Heges
HGO0692. Heoodz?

—1
EE "

ngggg;g_= Hegeses

e HG00693.
‘E—HG00613

HGMW HEs8i%e

F Heakid

%_—-= eu

mE—— 1808452

HG00613

-
—l=_=—~@ss‘§§§8§3§

—i6b0cs7

1iGo0ss4

HG00531

LTI

HSSS
?985‘9

= HGOO705.

"888%%
[ ——— ] !

I [160858}

s

M====

I {23341

el
I e 2
m—"

L —— i

-100.0 -80.0 -60.0 -40.0 -20.0 0

0 20.0 40.0

60.0

80.0 100.0



